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1.3.1 [ RS ERAEMERR 7 K [F AT B HET 8,300 83001 235] 4] H2.1225 H16.7.23
INET R 8,300 8,300
[#rHREER])
321 |LFREE —INEAT /INF R ET 6,040 6,040 30 $46.3.26 H22.3.1
322 |HEHR FETHGE [ KRETE/NR 15,700 12,310 30| 4] s$55.4.30] H11.3.30] H11.3.30
33.7 | XKHEZFZH FARHT el 6,800 6,800] 22| 4| S356.2] $55.4.30] H31.1.18
338 |EE505#% = IRAET HiE A B BT 6,580 6,580] 255 S44521| $55.4.30] S46.12.24
339 |REE/NRER = _EHT ARETE/NR 8,290 8,270| 235 S44521| S55.4.30 H2.5.11
3.3.10 | XA ZEFI#R R T HE AR EP AT 3,010 3010 22 $35.6.2] S55.4.30] S46.12.24
3311 |KERFE = REAT = saET 680 680] 22| 4] s445.21| S554.30 H13.3.6
3.4.12 | RETHAIFTHR FRHT E i 2,450 2,450 20 $35.6.2] $55.4.30 H6.1.11
33.13 |BHEPRB BESEAT REEMT 770 770 248 $35.6.2] S61.95 S61.9.5
3414 |KHERRORK £ FH T A% F BT 920 920] 18 $35.6.2] S554.30] H6.1.11
3.4.15 | KHRKER A RAT FaARHET 4,700 4,700 18 $35.6.2] $55.4.30 H2.5.11
3.4.16 |ERIFFEETATLR ERIF AT FaFTAT 6,070 6,070] 18 S475.2] $55.4.30] $55.4.30
3517 |#EEATHR S HET JEHT 1,810 1,810 15 S35.6.2| S$55.4.30 H6.1.11
3.4.18 |EEHMALR BESEAT 3 B A BT 5,620 5,620 16 $35.6.2] S55.4.30] $55.4.30
3319 |N7 & LE/INRIR el ARETE/NR 2,630 2,050 25 $35.6.2] S61.9.5 S61.9.5
3520 |KIGEHFPH# KiGHET HFE 10,170 3,920 15[ 2 $35.6.2] S55.4.30] H31.1.18
3.3.21 |KHEEPER AIRET X AHET 1,620 1620 25| 4] H16.11.30
3322 |ERIFTIREE Vi KRAT E/INR 2,700 1,080 25 $35.6.2] S61.95 S61.9.5
3423 |INEAFTAFLR /NG ARHT ARAIFEAF 4,850 3,120 16 $35.6.2] S$55.4.30 H9.3.4
3524 | KRESH# RRETF/R | B HAET 14,630 10,410 15 $35.6.2] $55.4.30 H7.4.21
35.25 |FEARTAEITALR 75 A HT FEEF A AT 3,460 3,460 15 $35.6.2| S$55.4.30] H2.12.25
3.3.26 |N7 B AN SET A FTET 480 480] 25 $46.12.24] S61.9.5 S61.9.5
3.4.27 | KHFLELR FARHT SLILET 4,880 4,880 17 $35.6.2 H9.3.4 H9.3.4
3.5.28 |JLETEYER J\ B ET RAHET 1,220 1,220 12 $35.6.2] $55.4.30
35.29 | KHEFREYH i AT BESEAT 9,800 9,800 12 $35.6.2] S$55.4.30 H8.4.9
3.5.30 |ABIHFHHR ARET FFET 1,230 1,230 12| 2 $35.6.2] $55.4.30 H8.4.9
3431 |EBRKER THEHT REFH 5,250 5,250 17| 2 $35.6.2| H7.421] H11.8.24
3432 | KIGESH# SRET £ [ ET 2,860 2,860 16 $35.6.2] H3.2.28] H10.11.24
35.33 | KAXME &R gy AiEHET 6,130 6,130 12 $35.6.2] $55.4.30 H6.1.11
3.5.34 |FaEPRER 7 AR HT 3 B A HT 1,050 1,050 12 $549.6.13| $55.4.30
3639 |AHESHR AR ET HEFET 3,370 3,370 8 $35.6.2] S$55.4.30 H9.3.4
3.6.40 |KBEREMR KEHT B [ ET 2,700 2,700 8 $35.6.2] $55.4.30 H3.4.2
3.4.41 | THAKREGLR FrETHET  [F7HEAREET 1,480 1,480 18 $55.4.30
3442 |HEHHPTHER FHETEHE  |[FTHSTHET 3,230 3,230 16] 2| $55.4.30 H14.8.28
3543 | FAFNEFHER FE AR [FFE/NSHET 5,470 5,470 12 $55.4.30 H2.12.25
3544 | ETHESHR $HLETHE | REFE 5,740 5,740 12 S55.4.30 H7.8.15
3.5.45 |FRIERIIER #1 H IR Y2 ET FiH R )IET 3,100 3,100] 12 $55.4.30 H2.12.25
3546 |BERNTER BESEET N/ SET 1,680 1,680 14 $56.8.11
3447 | KE<ESHR /N BT 1t B FHET 2,850 2,850 16 S61.8.29 $62.4.3
3648 |BHIRFEOLR BESEAT N/ SET 450 450 9 $61.3.31
3.4.50 |FRAIFTILELR Al FT AT ARBTLA 2,880 230 20 S61.9.5 H9.3.4
3552 |R EEEER 2 AT 2 _ERT 1,340 1,340 14 S63.10.4 H5.11.19
3553 | i R_EHT S AEET 2,340 2,340 13 H5.11.19
3554 |FATHE)IIE 1t B HET 1t B AT 1,690 1,690 14 $62.3.31
3555 |EHRAERILLR 1t B AT 1t B FHET 630 630 12 $62.3.31
3456 |HXBEIER 31 ES=T 1,000 1,000 16 H1.11.4 H9.3.4
3457 |EMEXER ESZ1 ES=1 920 920] 16 H1.11.4
3.3.58 | AXHEIFMHR FEAET FrH/NEET 6,070 6,070 25| 4] H2.12.25 H11.8.24
3.3.59 | AHILEREIR JFFHET 2_EAT 5,200 5200] 25 H2.12.25 H9.3.4
3.3.60 | KEAFEEEHER JFFHET THEH 6,150 6,150] 25| 4| H2.12.25 H11.8.24
3361 |FEMHEMAR i KHT /N EET 5,350 5350 25 H2.12.25
3462 |THEBEEHE THBEHT ¥& O AT 1,880 1880 16| 2| H2.12.25 H11.8.24
3.4.63 | RIGERATEY R SRAT SRET 390 390 16 H3.2.28
35.64 |BIL1EH#R Sl FET S FHT 910 910 12 H4.4.10
3.5.65 |BIL3EH S 1L BT BT 520 520 12 H4.4.10
3.4.66 |RAETERHIR RARET A FH BT 640 640 17 H6.1.11 H8.4.9
3.3.67 | KMAERIOHR FARHT AR 80 80| 24 H6.1.11
3.4.68 | ARIGHR P EFHET #1H KIS ET 1,420 1,420 17] 2| H78.15 H14.1.18
3.4.69 |ZHFHEHTEHR HFHE S A ETEE | FETEFFHET 3,930 3930 17| 2] H9.4.30 H14.1.18
3471 |FIAGEEIMR FAT A ;2 T A AT 370 370] 20| 2] H11.824
3572 |EEENR ST AT 650 650 13] 2| H11.824
3473 |BILBELE ST Jgp = T 1,540 1540f 17] 2| Hi1.824
INET |62 BR % 218,370] 197,910
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161 |BESFER BESEAT BESEMT 380 380 9 $61.3.31
162 |EXE15H# [EESZL EES- 1) 450 450 10 H1.11.4
763 |RXBE25# EE3=1i ES=T 1,060 1,060 10 H1.11.4
164 |EXE35# [EESZL EES- 1) 1,000 1,000 10 H1.11.4
765 |RXB454 GES=T ES=T 220 220 10 H1.11.4
766 |HEXE55 X EHT EES- 1) 290 290 10 H1.11.4
757 |EREEISHR SRET THEHR 320 320 12 H3.2.28
758 |ERFBIH2E4 THEHE THESH 590 590 12 H3.2.28
759 |EREEIEHR SRAT iR BT 500 500 12 H3.2.28
7.6.10 |EREBH4ELR THSH THEHR 490 490 9 H3.2.28
7611 |EREESEHR THSHE THEH 700 700 9 H3.2.28
7.6.12 [HEH15H it B HET it B AT 280 280 9 H2.12.25
7513 |BIL2E5 & Bl BT Sl Er 390 390 12 H4.4.10
76.14 |BEIE1E FRHT BAHT 120 120 8 H6.1.11
7.6.15 |&%Ei2E# AHT BAE] 350 350 8 H6.1.11
7.6.16 |SZE435H FRHT BAHT 110 110 8 H6.1.11 H8.4.9
7617 |S%E4EH ZHT FAHT 500 500 8 H6.1.11 H26.5.12
7618 |SZEI5E# ZRHT RHET 0 0 8 H6.1.11 H26.5.12 i
7719 |5%Et6E# P AHT FaARHT 270 270 6 H6.1.11
RS 8,020 8,020
[ EER)
871 |BISITEER1EE |BILEHE S BT 910 910 6 H4.4.10
872 |BIWSITHEER25R |BILLH Bl AT 150 150 6 H4.4.10
873 |BISITEEMAIEHE |BILEHE SILTHEr 720 720 6 H4.4.10
864 |[SZEIL754 FARHT FARHT 90 90 8 H6.1.11
865 |SZEI8EHR FKHT RAET 50 50 8 H6.1.11
866 |=%itoE#g ZSHT ZSHT 0 0 8 H6.1.11 H26.5.12 EiE
INET |5EE 1,920 1,920
&5t |6k 236,610] 216,150
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] BIEE 5% %_25 H RE-ZEFAH
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1.31  |JtEI RS R E R KALRET BiZHET 5,570 5570] 235| 4] H2.12.25 H16.7.23
NET [T 5570 5570
[EriREER])
321 |BURTEERR RIRET ANTRE 4,760 4760 35| 4| H2.1225 H21.4.17
33.2 |BIRILE 1S8R KIRHET KIRET 2,120 21201 23] 4] H2.12.25 H28.4.5
333 |EiFitE2 S8R RIRET KIRET 230 230] 25 H2.12.25
334 |BUEAHERR BURHET FEHE 4,590 4590 25| 4] H2.12.25 H27.3.27
345 |Edb#R BURHET AJRHET 2,220 22200 17 H9.2.21
3.4.6 |HFE KIRHET EURET 3,020 3,020 17 H9.2.21
357 |ABIAEEHR PN L ATFRAT 4,660 4660] 13 H9.2.21 H28.4.5
IR |7 21600] 21,600
Eit  |SHE#R 27,170 27,170
FEIGHHE ENER (KETHRS)
B % wEg |, 05, | 2% |E R EREAH
2 B® R A g = ¥ | ABAFS | BE [ B wone | = —res w =
% 5 (#Im) Gamy | () | % LRRTE Eopm =REER
[#rREER)
321 |EHKEE (BE=VAHR |(BEERAE 5,150 1,050 30 $46.3.26] S53.3.10] H20.7.25
3562 |AEER (BOE="YAHE |#HETHGE 660 90| 12 $53.3.10 H20.7.25
INET |2k 5,810 1,140
At [2E#& 5,810 1,140




